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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Test

Local Fund Audit Department Test - ]
Commercial Book - keeping (Without 064
Boaoks)

Maximum Time: One and Half Hour Maximum Marks: 60

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qaren@Ghl eusms N6 S SHmer

Read the following instructions carefully before beginning to answer the
guestions.

NeTEHHEHHG el Welsss QHTLRGLD (WY SD&%HL sifieamysanensd
SEUGTTLDTSL UG &&6 LD,

1. This computer based Test contains 60 number of questions in objective Type.
Ahgs safel culfls Cafeunangl, 60 Cam@m sumasuileonsr eNeIToHHmens
QareL g

2. Answer all questions. Each question carries one mark
ST E G NaITeEaHEnHGL ol waléseyld  peubleuny, olleimeyld b
WHLCUGN 2_enl_tig).

3 In case of doubt, English version is the Final.
aNewnssefled  ghGaHeHd Quuilar gnude sugellsd QesTH&SUUL (emenT
e n&eHGen Q) Slims g

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Ans eNeréseflsy LD Qummisen L6 LTedlsw & Heulfledt UM mG serfieL
Caemeulilgstt, &LONIGCHMU  Quet  umelledseuflest  eUTTHMSHEDHLD
SILRIGLD

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

egmemiugnyiser safeafl s GCajelme ealoLrweibss QASTLRIEGD
wpetr  seoNefNuilesr  SHeoquNeb  CoHmsiimd  SHYDISHEDET  SHEUEHLON &L
Lig &&6YLD

a) One question will be displayed on the screen at a time.
@Gy Curshed @@ allsorm WLECW sHafeafld Sepguiled GEmeTmLD.



Bills payable book i1s a
Qegibasn@iu wiIHNEE G g6 aerg
M Subsidiary book
glenewr e
(B) Principal book
(pa&eLn e[
(C) ledger
CuGr(

(1) Memorandum Book
&HICLE

Bank reconciliation statement
audl & _HID LI 1g016) eTaTLIg)

(A) Ledger Account (B) Part of the cash book
CuGr® Qrrés gligen @ uEH
Separate statement (D) A sub-division of Journal
safl oiléens GHLGUger 2 1 19Mey

Cash drawn bank for office administration use will appear in the book is the
Sigeiws Hicurs Gseeussts amrduladmbg uamb @fsgh GCurg Iigmen Qrrés
H$s6586 ndle) QeuiLED L&ESLD

- 1) Debit side (B) Credit side
m;,r_bgj U&SLD QUTEY USSELD
oth side (D) No entry 1s required
@mUusskIGeTgLD ufe] Aeuwunin@eudldene

Which of the following is not correct?
0 Aar@saliul [ReTerauhmeT eTasndy FeupTeng) ?
(A Net purchase = Total purchase - Purchase return
flay CGarerpsed = Qurgg Aararapgd — Qamarapsd Fpli
(B) Income = Revenue — Expenses
QU(HLDTETD = eu(heumil — Llseyser
(C) Net sale = Total sale — Sales return
R&r eflpuemer = Cwrgs ellpusner — eflpuenen FmLiub
Capital = Liability + Assets
gpagend = Quruiser + Cerggsaer

Which of the following is not a concept of account procedure?
&Gy Qar(iéastul_Reraraibmer sansdud QFudpensE SHESTETESS gl ?

{A) Dual Aspect ccount Period Concept
- BrleL saean sGSS semTedl LD ST H(hSE
1™, Full disclosure (D) Revenue Realization
pLeueallic @ smsgl eupeumil ey &S
3 008/DD/23
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6. Discount column of a triple column cash book records
PULgS Qrrés gliger semepulg LsHUIO LFLLLHeug
(A) Trade discount Mash discount
eflwirumy seTErLig Qynés SemEmLlg.
(C) Quantity discount (D} Seasonal discount
cTeTenflGens SeTEHULG STOPEND FETEHLIG

7. Creditors on 01.04.2016 Rs. 1,00,000/- and on 31.3.2017 Rs. 85,000/-, cash paid to
creditors during the year is Rs. 1,30,000/-, Calculate the credit purchase
siGGENT SmTé@ 1.4.2016 5 1,00,000/ éTara|b 31.3.2017 @f 85,000 eTenalld P(mHss5
sahGenmes @eeunagngd Cogsdu Ggmes @ 1,30,000/ aaléd sLeT QsTETIOS®
SenTdH @ QFls

(A) Rs. 1,85,000/- (B) Rs. 55,000/-
ew. 1,85,000/- . 55,000/-

(C) Rs. 2,15,000/- S Rs. 1,15,000/-
em. 2,15,000/- em. 1,15,000/-

8. The balance as on 31.3.2017 shows Sundry debtors as Rs. 55,000/- As per the given
adjustment. If Rs. 5,000 us to be written off as bad debts, the provision for bad and

doubtful debts at 5% will be

31.3.2017 Qetm UpUe SL_emaflseT Hewddles @@mUL ep 55,000 QsTRESLIUL(HETer
sR&a’ Hgellamiing ep 5,000/ eumpnéslenr CursEEWsLILL CeuaTHib uTImT QUGS 6T 5%
ggsaiiLL Gosmgwienwsarer Cgramauiiear sadsd{Hs.

(A) Rs. 2,750/- P Rs. 2,500/-
. 2,750/ em. 2,500/-

(C) Rs. 250/- (D) Rs. 3,000/-
5. 250/- e 3,000/-

9. Interest on drawings is deducted from

ehuden Bgrer eul iy Smhg s @GS LD

(A) Income B Capital
@U(HLOTETLD ELp GG ETLD

(C) Expenses (D) Cash
AF- 2N Qrnésd

008/DD/23 4



10.

11.

12.

13.

Credit purchase is obtained from

sL e QameTpse Smbg seTLfutinGaps

(A) Trading account (B) Total debtors account
ey samée, Qurgs s_ameallsafier samds,
Total Creditors account (D} Bank account
Qs sLaisCsnir seamrés QU &eTdE

Which of the following is an example of fictous assets?
E&eT_euDmIeT 6TE SATEMIEHE LOLUULTES Gengg ?

(A) Machinery (B) Patent
@ubdrib 2 floib

(C) Stock m Preliminary Expenses
sr&dlmiy sleuss Hlaney Geaellann

Find the receipt which is not to be classified as capital receipt
wpgdler aurauns smEL @uens eurelerd

(A) Capital Introduced

Qamieled @L oLt (s
(B) Sale of fixed assets

flevas Qergg afipuananie Qupn airey
(C) Loans

ySale of goods

e iseT aflpuenaruliler Qubm eurey

Example of expenditure which cannot be classified as capital expenditure?
wsedlen Qaaeilerd eram GHLIGAL Quans QeaalasdinE o smyeabd

Purchase of fuel for machinery
Qupdrsdnaner erflQdummear Aararepsed
(B) Purchase of land
e Qamemapse
(C) Purchase of machinery
Qupdly Asrédrpsed
(D) Purchase of furniture
Simpaen Qararipg

5 008/DD/23
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14.

15.

16.

17.

18.

Which is one of the example of nominal A/c?
@8l ety QUwTeTey FewsdlHE 2 Fryerrd?
(A) Profit and loss Alc (B) Machinery Afc
@eoru BU L Sewrd& Quibdlr semsE
,(Q’ Interest (D) Capital Afc
IS PSD
Which column is important for preparation of reconciliation statement is the cash
book?
gfliss G Ll gurfsEn Qurws Armss LsssssHG® abg sreb (P&HubTers ?
&r” Bank (B) Cash
AT S Qrré&sin
(C) Discount (D) Al
SeT(EHUIY. Gleneu DienargILd
The Asset accounts are always closed with balance
Qrgg semsEGadT erlbumipg)b
(A) Plus balance (B) Minus balance
Wlenaudmiiy Genpul(mLiLy
@/Debit balance (D) Credit balance
, up® Guy a6y @iy
At the end of the year the personal A/c and real A/c are
&6 @A et sems@EHEhD QFTSE ST EHH(EHD
(A) Closed VBalanced
W lg&suipEermen Uy s iubGdermet
(C) Closed and transferred (D) Not at all closed
Wrdsul( wroprinGddmen Wy &sliuReudlerane
Purchase book is maintained to record
Qararapged gligen udle| QeuwiuL Ceuamgw GsTaTapsed
(A) All types of purchase (B) Cash purchase only
SIDXTSH UMSWLITET QSTETIpSED Qurés GasraTapged W HID
M Credit purchase (D) Asset purchase
&L e Qamarpgd WL {Hb QanggsaeT AameTapse

008/DD/23 6



19.

20.

21.

22.

In three column cash book, cash drawn from bank for office purchase will appear
puusd Qrrss gluem Sigeues GCoameaussts LT ahdss QIrés Ussssdearn
U&SSS & sTemrLILI(pID

(A) Debit side only G’ Both side
Lbhm LS WL (Hib Qrer[H UsEkISEHLD
(C) Credit side only (D) No entry in cash book
ey L&ESD WL HIb Qyrés e yed uFwiiu@eudldana

A cashier, who maintains impressed systems of petty cash book starts with the
opening balance of Rs. 10,000/-, Expenditure during a month amounted to
Rs. 8,600/-. Find the amount to be impressed.

qparuent By wenpulier Ay Qrrss LHCauigenar LFTLASE ek Ersrart g 10,000
S TOU @@OULLer geusdenmr. @b WIssSHd eugrd g 8,600 GQewellL Ll Rererg,.
snemen(hé@ BULsers efiss Cauamngu CGgrasdan oeme]

(A) Rs. 10,000/- (B) Rs. 18,600/-
5. 10,000/- . 18,600/-
s. 8,600/- (D) Rs. 1,400/-
5. 8,600/- . 1,400/-

The accounting concerned with recording all business transaction is
seamsGaihsaller aueamfilas pLeaiysmssamer LW (P

M Financial Accounting (B) Management Accounting
Al Blener semradlwicd Cuarameny samédlwich
(C) Cost Accounting (D) Statistics
SiLssalane samsdluid Leratludlwcy

Creditors is an example of
sLaBGSsTT 2 gMyewrors @) (mLiLg)

(A) Current Assets (B) Fixed Assets
BLUL Qangg fewers Cersg)
Current liabilities (D) Long term liability
By Quirmitiy e &rew Quimmiiy
7 008/DD/23
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23.

24.

25.

26.

Petty cash may be used to pay
Hoewep Crrassdalmha CFiwuiLpb Ceoey

(A) salaries to staff
uenflwirerirsefier oardluib

(B) Purchase of furniture and fittings
S NEET (1) CILIM(HSSHISHET GUITTEIGSeD

\VExpenses relating to post and Telegram
suTeD FHl Qe
(D) None
g5 Gdena

Outstanding rent A/c is an example for
Qarpésiu Cauamy UTLas &/@ aThiSHSSTI LTa cflars@eg)

(A) Nominal Afc (B) Personal A/c
Guwyerey &/ DETETT &/(5
Representative Personal Alc (D) Real Alc
Qrdfldssien et &/ Qengg &/

The object of book keeping is to
semé@ udeiludicn Grrasib

(A) Earn profit
@erub FLHige

(B) Reduce the expenses
Qewellamiiser @anEsHed

Keep a complete record of transactions
PEp@wLTE pLagsamssamer LFGa g UgTofgsd

(D) loan sanction
s QumsD

A statement of affairs resembles

@@ oo iflsms Gumengy GgmpmwalsEn

(A) Trading Alc (B) Profit and loss A/c
efluruny &/@ @y BLL &/&
Balance Sheet (D) None
iy flead @hiy arglayb Gdena

008/DD/23 8



27.

28.

29.

30.

The accounting equation is connected with
&S WG FTUT(H THEL 6l FMTbSE

(A) Assets only (B) Liabilities only
Qarggisbaer Gurmliyser

(C) Capital only yAll of the above
(PSP Laneu Simarggbd

The land is purchased for Rs. 5,00,000/- and its market value is Rs. 8,00,000 at the

time of preparing final accounts the land value is recorded only for
fleb erkdu eflane e 500,000 HOID SiGen Fhang ellena p. 8,00,000 erafley Bmid
sgemg@Eser gunflagn Qurws Heogder wHuumrs sl L Lupid Agrens

(A) Rs. 3,00,000/- Ms. 5,00,000/-

es. 3,00,000/- e5. 5,00,000/-
(C) Rs. 8,00,000/- (D) Rs. 13,00,000/-
em. 8,00,000/- ep. 13,00,000/-

Electricity charges and dividend is an
Ble &L LawTid HMIb LBISTETWLD eTemLig)

(A} Personal Alc (B) Real A/c
DLATETT &/ (S Qergg &/
Nominal A/c (D) None of these
Quuwyetey &/@& @eunibléd ggibd G

Liability which may or may not arise in future
i aumpb srasHd Bapasmyu sdag Hspr QUImILILSE aetug)

(A) Long term liabilities (B) Current liabilities
Bewr srer GummiliLgser BLULG Qurmidyser
( Contingent liabilities (D) None of these
Blapeueniwir Qumginser GleunBledr ggib Eldene
9 008/DD/23
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31. The wages paid for installation of a new machinery is to be debited in

Alc
Hfw @uibdlrsens HpeaushE CouemwrlsErdd STOULL sl upm eeuss Gouehrigul
SETHE,
(A) Wages Alc \M Machinery Alc
amedl &/ Bupdly 5/@
(C) Factory Expenses Alc (D) Contingent Expenses A/c
oo Cswe| &/@ Hoeery Cewailer 5/

32. Goods taken by the proprietor for his family use is to be credited in
o fieowwrernt geargueLw GHLU UUEGEETE ThHESFHSCaETHRTL FIEME Qe @ES

Ceuairiqwi &/(5

{A) Drawing A/c (B) Sales Alc
il &/ fpuenar &/
Purchase Alc (D) No entry is required
Qardrpsd &/@ ey ggb Caameuuideana

33. Choose the correct statement
sflwrer gaphlener CarbEsH

(A) Capital expenditure is a recurring expenditure
wsdlar Qgaweygar Hmbu SHmbu Flawb saran Caram g

M Capital expenditure is a non-recurring expenditure
apsdlear Qeaeysar o Hbu Hapr saramw e g

(C) Capital expenses includes insurance premium
wsdlar Qenayser arulE paanosdeaear 2 dreTL SHwUSTEGLD

(D) The utility of capital expenditure for one year only
paailan CeesaT @ITaRThid@ LW STESE55TEHWD

008/DD/23 10



34. Carriage inwards
2 _GT&EnLD Fnedl

(A) Capital Expenditure Mevenue Expenditure
psedler Geeay aumeuruiler GlFee,

{(C) Deferred Revenue Expenditure (D) Non-business Expenditure

peruwen aupeumien Geawey fAlwrumry QerLrupp Geweay

35. Wages paid for installation of plant
Qurdlevens Blifrensdling QaErHEsIUL L gnedl

Q»” Capital Expenditure (B) Revenue Expenditure
(paedler QFeaey au(meumuien GFweayj

(C) Deferred Revenue Expenditure (D) Non-business Expenditure
Beruwen’ augpeumuller Gaeey eftwrury Qgr_rubhy Qeaey

36. Purchase of machinery
Qupglr Qararpge QFLSS
W Capital Expenditure (B) Revenue Expenditure
apgedian Ggaey cupeurllen Claevey

(C) Deferred Revenue Expenditure (D) Non-business Expenditure
Beruwen aumeumuiler Gewey Awrury Qgriiupp Qewey

37. Purchase of Fuel for machinery
Quipdrsdpasrer erfluCurmer dgrarpgead

(A) Capital Expenditure Mevenue Expenditure
psdler Hgway aumeurulen Ggawey
(C) Deferred Revenue Expenditure (D) Non-business Expenditure
Beruwer aumeuruiar GFwey eflwrury Gerofuphn Ceaay
11 008/DD/23

[Turn over



38.

39.

40.

41.

42.

Expenditure incurred for convertion of petrol Engine into diesel Engine
QuL Crrer Quibdrsevan wsd @uibdmons wrHdl sewss Cewaiand

Capital Expenditure (B) Revenue Expenditure
wader Ceway aupeurwiler Cgee]

(C) Deferred Revenue Expenditure (D) Non-business Expenditure
Beruwer aumeuruiien Geawey wrury QgrLiupp CFewey

Expenditure on Research and development
2 ri&S) wHmb euariFfssTer Gaaeieand

(A) Capital Expenditure (B) Revenue Expenditure
pgedlen QFeaey ameuruflar ClFwey

(Cy” Deferred Revenue Expenditure (D) Non-business Expenditure
Beruwer eugpeumuilar Qeaey elwrury QAgriubp Qeaey

Higher Advertisement Expenditure
2fls serefieorer alenbuy Geweiarnd

(A) Capital Expenditure (B) Revenue Expenditure
pgdler ey aumeurien Ggewa)

Deferred Revenue Expenditure (D) Non-business Expenditure
Feruwen aupeuruien Gaaay urury QgrLrupm QFwey

Trial Balance should be tallied by following the rule of
e safiamug @@Eiumie) sl mwub FoearuL GaamHb

(A) Single entry system \M)ouble entry system
ghap ey e @i ufle) pep
(C) Mixed entry system (D) Does not arise
sy udle| wpen Hlenav erpallebane
Suspense account having debit balance will be shown the side of
balance sheet.
emogs senédar upm, @iy, @ouy fee @iludes ——— ussgdle
Ggmemitb.
Assets (B) Liabilities
Qg m g st QummCiLser
(C) Assets and Laabilities (D)} Does not arise
Qenggissear wHmb Gurmiyser Hlenew erpallévane

008/DD/23 12



43. Trial Balance is prepared to find out the
@muumnie) gurfluiug
(A) Profit or loss
@leorud eeg BUL b BBl
(B) Financial Position

R flevevenw ifHlw

Arithmetical accuracy of the accounts
sansHGsatlen Figjsemennal iHw

(D) All the above
CuCa @MUEC L ameuser Dienarggib

44. Where errors are decated and rectified?
seauniseT samugssuul @, sfldsuwuliu@eus

(A) Trial Balance (B) Trading, profit and loss A/c
@mrumie, eflwmumy HmID TU BLLE SeméE
‘ﬂr Suspense Account (D) Balance Sheet
SDMOGE| HEEHES Boiy feow @hliy

45. dJournal Entries passed to correct the errors are called
Yenaeners Smssiiuduyn GRuGulGl ubleyser

Rectifying entries (B) Adjustment entries

Hmss udeyser gfla G ufle sar
(C) Opening entries (D) Closing entries

Feusstl Ufle ser Wyey udleyser

46. An accuracy of accounts should be verified by preparing
seams@Gsaien Figgearenoleer Gerdlsas sgurflesliL@n s

M Trial Balance (B) Balance Sheet
Souurie Aoy few Ghloy
(C) Trading Account (D) Profit and Loss Afc
elwrumrys SewréE @eoru UL & semEE
13 008/DD/23
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47.

48.

49.

50.

51.

Suspense A/c should be placed in
Si@MbGE Hamé@ UFSwin@n GLb

(A) Trading Alc (B) Profit and Loss A/c
Alurungé serde QOTUBL L& &Haumdsd,
Balance Sheet (D) None of the above
gmuyflenad @My CuCa ML L eneusaild eguldena

State which of the following errors not be reflected in the trial balance
Spssanr_ Qenypseiie Guwuiumie Gesfiliu@ssr deapaw GHLdGs

Error of complete omission (B) Error of carrying forward
Y GG S giéél ar(ssD

(C) Error in addition (D) Error of partial omission
gal L b SenLp UGS lihise Wenp

Salary paid to manager should be debited to
Cuaremma@s Qegssiiul L saduib upp ameuss Ceusimgwg

(A) Managers Account (B) Office Expenses Alc
Cuerents semédle SiQeuws GFae| samsdld
Salary Account (D) Purchase A/c
pardlis sewrdidled Csmarpse samrédle

Discount received column appears side of the cash book

geTEpUl Qupsd srob, Qrmés gLliged ————— LSas5SlD GLib Gupib.
(4) Debit G Credit

upp ey
(C) Both side (D) Not appears

@) LsEAPLD @b Gupng

Balance sheet shows the
@Amuy feas Gilunder apob Ggmer Sidluierd

(A) Profitability 2 Financial Position
Geru cHldgid 58 Hevaveno

(C) Sales (D) Purchase
el Lener Qarearapse

008/DD/23 14



52. Accured interest on investment will be shown
wpaShsar g Cup Ceuargi eul g

(A) On the credit side of the profit and loss A/c
@orupl L sensdld eure LEESHD WL Qb erpguL CeusmhHb
(B) On the asset side of the balance
@muyblees @Hobd Qsrss usssde wHD srardssin Ceauam@pib
U’ Credit side of the P & L A/c and asset side of Balance Sheet
Georu Bl &/@ eurejussd wHmb @uLy Hees oy Cersg usssdHd
arpsrilL Geauam(hibd
(D) On the debit side of the P & L. A/c and asset side of balance sheet.

@orupl L s/ ubp ussd wopd @Goy Hee GHludd Gsrsgy ussD
aTpssLILIL. Ceuam(Hitb

53. If there is no existing provision for doubtful debts, provision created for doubtful
debt is
QUITYT QUESL 6T eTHEGTSHID @oers Hleaoulld yflu eurym pusbsLer ¢5i&d
(A) Debited to bad debts A/c
uMT&ELer semadled uHEDEPSILHLD
(B) Debited to Sundry debtors A/c
upue sLamallger samsded LHADEWPSLIUED
(C} Credited to bad debts A/c
QUTITESL 6T Samrdhdler eurbleupsliti(Gitb

@ Debited to P & L Alc
@ru BUL serdsdld upEpepstiL@ED

54. While preparing the trial balance, the accountant finds that the total of the debit
column is short by Rs. 1,000/-, this difference will be
@Qmuuriey surhggdar upm usH . 5.000 Gopeurs 2ty semLHuliLbhEng.
@kg AsSHured
MDebited to Suspense Alc
Smogg samsdd UHEDLpsILEILD
(B) Credited to Suspense Alc
DTG Sewddled aurey eT(psLILIID
(C) Adjusted to any of debit balance
uhm usHule gCsenb en samadle Fl@auwiL@Gd
(D) Adjusted to any of credit balance
aure| LHuler gGaeib e samsdle fldealuiu@ib

15 008/DD/23
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55.

56.

o7.

58.

Furniture A/c showing details as below Jan 1- Furniture in hand — Rs. 2,000/,
Jan 1 — Purchase of furniture. For cash Rs. 4,000/, Jan 30 — Sold furniture Rs. 400,
Balance of furniture will be
Wemeumdy  eflaugruseafiadimbs @mS @@ueu CsrpllshisEs @mar. 1. AenDEEr
Sy — @B, 2,000, RaT. 1 JPHE®ET cuThSLF — 4,000, @aT 30 JdDEOE ellhng —
400, BgapeTer DD 6T
y{ 5,600 Dr (B) 6,400 Dr
5,600 ubm 6,400 upm
(C) 5,600 Cr (D) 6,400 Cr
5,600 euray 6,400 aurey
All the items given in the adjustment will appear at in the final accounts
S (Hsd BermseT QmHs samsGsatss —— Ggremmib.
(A) One place M‘wo places
(6 GL1b Qran® Qb
(C) Three place (D) Four places
epeTmy @)L b6 @L.Lb
If closing capital Rs. 3,20,000, Drawings — Rs. 48,000/-, Additional Capital
Rs. 80,000/-, Profit during the year Rs. 96,000/-, then opening capital will be
@md s em. 3,20,000, Ry @ 48,000, D WPFD ¢h. 80,000, SeUaUTETIq 6
@lemub #p. 96,000 erefled QFTL&E ApHeD
Rs. 1,92,000/- (B) Rs. 4,00,000/-
ap. 1,92,000/- . 4,00,000/-
(C) Rs. 1,28,000/- (D) Rs. 2,16,000/-
. 1,28,000/- 5. 2,16,000/-
Which of the following is not the advantages of book keeping?

&Gy Qar@issuul Réarareupmier gl semsbGa@aser urmoflidd uwearde ?

(A) Calculation of dues
Hleyencusaner sardélLe

¥ 1Control over Liability
' Qummtiyser Bg s Hiriur@
(C) Control Over Borrowing
sLengar Bg sl Hour

(D) Taxation
auflefl gLy

008/DD/23 16



o

59. Credit sales is obtained from
&L ellpuenaren Pl 2 Fa b HeTEE

(A) Bills receivable A/c (B) Sales Alc
QumsHGIW wrbnF F.6O &/ Apueer 5/@
Total Debtor A/c (D) Total Creditors A/c
sLanmall&eT &/ sLapCari &/

60. Current assets of a business concern are Rs. 1,00,000 and current liabilities are

Rs. 50,000/- current ratio will be
Ppeuergder pLLy Qerdgsser gp. 1,00,000 pBLUY GQurmliyser @ 50,000 erafled

BL Ui eSldlgD
« 21 B) 1:2
© 11 D) 14
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Num ber

: _ DEPARTMENTAL EXAMINATIONS .
LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL
‘BOOK - KEEPING

(Without Books)

Maximum Time : 1 hour - . Maximum Marks : 40

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
a&]lﬂmrrm dlen._wafls@d aams damggrer

Read the following mstructlons carefully before beglnmng to answer the questions.
eflenné & (@héE sﬁlml_ujaﬂ&es Qs qpeny &psseim aﬁlmmq&;mm SEUILDTS unq.é;a;mw

- L Answers in excess of the prescribed number of questlons appearing at the end of the answer
book will not be valued. '

el sener GHUGL Gerar srsmmﬂesmass@ aﬁaswms m@ﬁu&]@ulﬂm Gﬁ]ml_ggrraﬂsﬁr Sofde
2 arar Hifls cramaniisasfonar sl sdr wAHUIG QewriuL rg. _

2. In case of doubt, English version is the final. _ ,
eflamsselicr shCsaBmOnen Yudle ey aila Aasr@ssuuc fHerer clammssGer Sndurang.

Answer any EIGHT questions. -
ceraGugib @ darss@rsE St wafl. ‘
. ' (8 x5 = 40)

1. Write shprt notes on :
(a) Purchase
(b) Sales
() Stock
(d) Liability.
Gereumeuarbfl Hp GHLUL Tpss.
(31) QameTapsed | ‘
{g) efipuenaT
@) &qa;é]@uu
() Qurrguuu
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2. .Definition of Book keeping and what are the limitation of book keeping. '

samsCafent Gassamd eueors wHph sasGa@ent LgTofindd edar Gmpurpsdr
WiTeneu ? : ‘ '

3. ‘What are the advantages of double.entry system?

ArlerL. ufle] WP@DFET HATEWLOSET WG ?

4. What are the different types of Journal entries? -
GHUGUC L Liflelldr auemsseT wmane. ?

. B. | ~ Classify the following us to personal, real and nominal accoux}ts
(a) 'Capital
() Building
(¢) Carriage in waves
(d) Cash
(e) Commissioh_iec)éivéd _
@ Bank |
(g) Purchéses

~(h) Chandru
(1) Outstandirig wages
Wemeu(neuaTauDenD <RyETET asémsréa@, Q&rrg;gj as@'fés@ WwHDILD Quﬁ_lgma.] SEWTH(E, Gr&rgu
umSULIHESHIS. : .
.(éi) P
(<) SLLL1b .
(@) 26 gl Geaway
()~ Qurésid
(2) g,e'rr@u[q,u(.lug‘)gpg‘
(oar) euiudl
(er) Qasﬁeﬁ‘r@gsb
(&) &FhgI(H
() Qarpasiiu. Geuamgw saedl.
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What are the advantages of subsidiary books?

g,jmm ghaefer peenoaseT wWirenay ?

Describe the importance of cash book?

- Qs gliger (psSliuggieunisET Wrane ?

From the following information prepare bank reconciliation statement as on
31.12. 2017 find out the balance as per bank statement. :

Rs.
(a) Baiance as per bank stafement' s - ‘ 7 6,000
- (b) . Cheque deposited on 28th December '20'1l7, but not yet credited - 2,000
(0 lCheque issued for 10000 on 20th December 2017 , but not yet ' 3,000
presented ' | | |
~(d) Tnterest on debentures dxrectly collected by the bank not - ' ‘ 4,000

- recorded in cash book _
(e) fnsurance premium on building directly peid by the bank | 1,000
(® Amountwrongly credited by bank - | o 500

Qeraumid aﬁla.u;rraw;erﬂaﬂ@;bgj genur 31, 2017 ;brr@a;@rﬂu_l aundls Ffle G urguame
gwri Qalg et siflsans Ligwnrer @l sarLdis.

. ©-
(o). i) fises@any @muy | 6,000
(<) gebur 28, 2017 Dierm euriidludiéd G&gugﬁu_l arGsrene . 2,000

Qengiib aure) MeausslLLeidae
(@) gebui 20, 2017 say HEss srGeree . 10,000 @arguh | 3,000
| QeQISTIMEESE @@T@ﬂ@sﬁﬂu@‘gguuueﬁld)mm ‘ '
()  audlwred Gorgwns eJ@eS]ésa;L'JuL'_L_ sLaT_HuusSb Lsgnm 4,000
Qg Qyrés gLigd u‘é:;].UJlI'JUL_Gﬁ]deU)G) o -
(2) sl Bgrar smiSE @mmmﬁﬁ ardwure Cprgwurs Qegssiul L g 1,000

(2an) QUAIAILITD SQUISOTE U6y @euEsILL L Cgmes | . 500

3 | ~ 008/DD/23
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9. From the following information calculate the amount of deprematlon and rate of
depreciation understralght line method. ' :

Purchase price of machine = 80,000
Expenses take capitalised = 20,000
Estimated residual value = 35,000

Expected usefull life = 5'years

Epsam_  gascudsmars Ceren(, Gg,rr@ssn@ @mmu.‘ﬂa) Csuprend Cgrens u)ﬂ)gn.o
Csiomar aﬂ&]gm ST E.

@uisdlyw armdw Gﬁ]q)w = 80,000

,rﬂgnmmésé G&ma.'; = 20,000

dﬁr‘r(ﬁpn%@m @gn@ wdliig = 35,000
erdTGErE@D Lwereliiiy sreb = 5 eu@mLiger.

10. ~ How capital expenditure differ from Revenue Expenditure?

padland Qemeyser ereueumy cu(meum) &)ers @&@Jmséﬂeb Q@pg Caupu@fepg ?
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